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Ideals for irreducible component#ﬂ)f Xpar

I = (u'® —u® 4+ du? + 1)

* 1 irreducible components of dim¢ = 0, with total 16 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I I* = (u'® — u!5 + 13u’ — 12u"3 + 67u'? — 56w’ + 174u'® — 128u° +
239u® — 148u” + 166u® — 80u® + 50u* — 16u3 + 4u? + 1)

(i) Arc colorings

ayp =

ud + 2u
u3+u

ut +3u?+1
ut + 2u?

w2 + 940 + 2948 + 40uS + 22ut + 5u? + 1)

ag =
asz = wl? + 8ul0 + 2248 + 24uS + Tut — 202

—ult — 8u® — 22u" — 24ud — Tud + 2u
w3 + 9utt + 2949 + 40u” + 22u® + 5ud + u
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(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u'* — 4u'® + 48u'? — 44ut + 224410 — 18402 + 512u® — 364u” +
592ub — 344u® + 320u* — 136w 4 64u? — 16u + 2



(iv) u-Polynomials at the component

Crossings

u-Polynomials at each crossing

C1,C4,C5
Ce6,C7,C10

C11,C12

u'® —u'® 44?41

C2,C3,Cg
C9

u'® +ul® 4 4?41




(v) Riley Polynomials at the component

Crossings

Riley Polynomials at each crossing

C1,C4,C5
Ce6,C7,C10

C11,C12

Y04+ 259" 4+ 48y +1

C2,C3,Cg
C9

y Oy 8y + 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

u = 0.266756 4+ 0.8616701

—2.78433 — 3.762151

—1.09418 + 4.533581

0.266756 — 0.8616701

S
I

—2.78433 4 3.762151

—1.09418 — 4.533581

u = —0.094119 + 0.8853171

3.49312 + 1.668571

3.40247 — 4.858111

u = —0.094119 — 0.8853171

3.49312 — 1.668571

3.40247 + 4.858111

u= 0.11360 + 1.449411 5.02280 — 5.172931 0.10018 + 3.197921
uw=0.11360 — 1.449411 5.02280 4 5.172931 0.10018 — 3.197921
u = —0.03738 + 1.467741 11.53240 + 2.154061 3.63368 — 3.218551
u = —0.03738 — 1.467741 11.53240 — 2.154061 3.63368 + 3.218551
u = 0.438466 4 0.2681351 —6.29237 — 1.429361 | —6.44952 + 4.151751
u = 0.438466 — 0.2681351 —6.29237 4 1.429361 | —6.44952 — 4.151751
u = —0.206108 + 0.2556921 —0.105962 + 0.7192551 | —3.55239 — 9.638251
u = —0.206108 — 0.2556921 —0.105962 — 0.7192551 | —3.55239 4 9.638251

u= 0.02776 + 1.856441

17.5528 — 5.90831

0.36622 + 2.679521

u= 0.02776 — 1.856441

17.5528 + 5.90831

0.36622 — 2.679521

u = —0.00897 + 1.861441

—15.2590 + 2.39861

3.59355 — 2.682941

u = —0.00897 — 1.861441

—15.2590 — 2.39861

3.59355 4 2.682941




Crossings

II. u-Polynomials

u-Polynomials at each crossing

C1,C4,Cs
C6,C7,C10

C11,C12

wl® — w4 1

C2,C3,Cg
€9

Wl ol e du? 1




Crossings

ITI1. Riley Polynomials

Riley Polynomials at each crossing

C1,C4,Cs
C6,C7,C10

C11,C12

Y04+ 25y" + - 48y +1

C2,C3,Cg
€9

y O+ 1Ty 8y +1




